AZS52Z2 (BF10K 4 0k

Vs BS | IF2M1L EEHA g5z
1007 0:32:17 |A10km40:% K (5B 14) 1
1002 0:33:50 |A10km404% (B 14) 2
1021 0:37:92 |A10km405% K (B 1) 3
1001 0:38:47 |A10km40m% K (B 1) 4
1008 0:41:12 |A10km405% R (B 1) 5
1005 0:41:19 |A10km405% K (B 14) 6
1006 0:43:32 |A10km407% K (B 1) 7
1014 0:44:16 |A10km40s% K i( B %) 8
1017 0:44:37 |A10km40m% R (B 1) 9
1020 0:45:31 |A10km40i% K (B 14) 10
1010 0:46:37 |A10km405% K (B 1) 11
1011 0:47:31 |A10km40i% K (B 14) 12
1012 0:49:21 |A10km40R% R (B 1) 13
1009 0:50:29 |A10km405% K i( B %) 14
1016 0:51:29 |A10km407% K (B 1) 15
1013 0:52:04 |A10km407% K (B 14) 16
1015 0:52:47 |A10km407% K (B 1) 17
1003 0:55:10 |A10km407% K (B 14) 18
1019 0:56:13 |A10km405% K (B 1) 19
1018 0:57:25 |A10km40:% K (B 14) 20
1004 0:58:53 |A10km407% K (B 1) 21
1022 1:04:03 |A10km407% 5k (B 14) 22




BZ7S5 2 (BF%10K 5 0kl

Vs BS | IF2M1L EEHA g5z
1120 0:32:12 |B10km505% 5 iii( B 14) 1
1139 0:35:07 |B10km50% (B 1E) 2
1108 0:36:48 |B10km507% 5k iii( B 14) 3
1129 0:39:56 (B10km50% (B %) 4
1103 0:40:41 |B10km507% 5k ( B 14) 5
1117 0:40:47 (B10km50% k(B %) 6
1113 0:40:49 |B10km507% 5k i (B 14) 7
1132 0:41:06 |B10km507% (B 1#) 8
1109 0:41:12 (B10km50#% K (B 1) 9
1112 0:42:14 |B10km50% F (B 1#) 10
1115 0:42:35 |B10km505% & (B %) 11
1136 0:42:55 |B10km507% (B %) 12
1134 0:44:20 (B10km50% k(B 1) 13
1106 0:44:26 |B10km50% (B 1) 14
1127 0:45:12 (B10km507% k(B %) 15
1901 0:45:42 |B10km507% (B 1) 16
1101 0:45:46 (B10km50% k(B 1) 17
1114 0:45:56 |B10km507% (B 1#) 18
1102 0:46:01 (B10km507% k(B %) 19
1118 0:46:38 |B10km507% (B %) 20
1107 0:46:44 (B10km507% k(B 1) 21
1131 0:47:04 (B10km50% k(B 1) 22
1116 0:47:32 |B10km507% k(B %) 23
1104 0:47:44 |B10km50% (B 1#) 24
1130 0:47:59 [B10km507% k(B %) 25
1128 0:48:25 (B10km50/% k(B 1) 26
1135 0:49:43 |B10km507% K (5 14) 27
1138 0:50:42 (B10km507% k(B %) 28




1125 0:50:48 (B10km50/% k(B %) 29
1119 0:51:00 (B10km50% K i (5 14) 30
1121 0:51:01 (B10km50/% k(B %) 31
1133 0:51:39 |B10km50% (B 1#) 32
1124 0:53:24 (B10km507% k(B 1) 33
1122 0:55:32 |B10km507% K i (5B 14) 34
1137 0:59:40 |B10km507% (B %) 35
1126 1:00:04 |B10km507% (B 1) 36
1111 1:01:25 |B10km50% (B %) 37
1140 1:05:24 |B10km50% & (B 1) 38




CZ5Z2 (BF10K 6 0kl

v BS | IFEML EE% (=43
1233 0:34:28 |C10km607% k(B 1) 1
1215 0:37:32 |C10km60% R ii( B 1) 2
1218 0:41:15 |C10km607% K (B 1) 3
1228 0:41:21 |C10km607% K (B 1) 4
1213 0:42:55 |C10km60#% k(B ) 5
1206 0:42:56 |C10km607% K ii(F 1) 6
1207 0:43:36 |C10km607% K ii(FB 1) 7
1205 0:43:49 [C10km60R% k(B )

1211 0:43:51 |C10km607% K (B 1) 9
1224 0:44:59 |C10km607% K i FB 1) 10
1225 0:46:26 |C10km607% K i(FB ) 11
1212 0:47:38 |C10km607% (B 1) 12
1232 0:49:48 |C10km607% K i(FB 1) 13
1220 0:50:09 |C10km60#% & ii( B 1) 14
1221 0:50:15 |C10km607% i B 1) 15
1202 0:50:19 |C10km607% (B 1) 16
1223 0:50:20 |C10km607% (B 1) 17
1209 0:51:16 |C10km607% K i B 1) 18
1222 0:51:52 |C10km607% K (B 1) 19
1201 0:52:21 |C10km607% K (B 1) 20
1204 0:54:04 |C10km607% K i B 1) 21
1216 0:57:38 |C10km607% i B 1) 22
1219 0:57:49 |C10km607% K (B 1) 23
1208 0:58:02 |C10km607% k(B ) 24
1227 0:58:39 |C10km607% k(B i) 25
1210 0:58:56 |C10km607% KB ) 26
1226 0:59:15 |C10km60R% k(B i) 27
1230 0:59:33 |C10km60#% k(B i) 28
1203 0:59:47 |C10km60R% k(B ) 29
1229 1:00:51 |C10km60#% k(B 1) 30
1231 1:04:42 [C10km60m% K (B ) 31
1217 1:13:06 [C10km60R% K (B ) 32




DZS5 A (BF+10K 6 0mElLE)

Vs BS | IF2M1L EEHA g5z
1317 0:38:13 |D10km60% LA L (B %) 1
1311 0:44:46 |D10km607% LA (B 1H) 2
1302 0:47:18 |D10km60#% A L(B 1) 3
1324 0:47:42 |D10km607% LA E(SB 1) 4
1326 0:47:51 |D10km60#% A L(B 1) 5
1309 0:49:49 |D10km60#% A L(B 1) 6
1329 0:50:05 |D10km60#% A L(B 1) 7
1328 0:50:16 |D10km607% LA L (B 1%) 8
1308 0:50:16 |D10km60#% LA E(B ) 9
1327 0:50:24 |D10km60%% LA (B 1) 10
1322 0:52:04 |D10km60#% LA E(B 1) 11
1313 0:52:18 |D10km60% LA E(B 1) 12
1323 0:52:47 |D10km60#% LA E(B 1) 13
1306 0:53:47 |D10km60%% LA (B 1) 14
1304 0:55:07 [D10km60#% LA E(B 1) 15
1305 0:55:56 |D10km60%% LA L(B 1) 16
1315 0:56:34 |D10km60#% LA L (B ) 17
1301 0:57:10 |D10km60%=% LA (B 1) 18
1320 0:57:35 |D10km60#% LA L(B ) 19
1303 0:59:22 |D10km607% LA (B 1) 20
1319 1:08:51 |D10km60#% LL L (B 1) 21
1330 1:09:01 |D10km607% A L(B 1) 22
1307 1:10:24 |D10km607% LA E(B 1) 23
1325 1:16:36 |D10km607% LA L(B 1) 24




EZS52 (LF10K 7VU—)

Vs BS | IF2M1L EEHA g5z
1503 0:48:14 [E10km7')—(&1%) 1
1502 0:49:04 |E10km7")—(Z %) 2
1509 0:49:17 |E10km7)—(Z& %) 3
1511 0:49:25 |E10km7')—(Z %) 4
1510 0:51:24 |E10km7)—(Z& %) 5
1501 0:51:32 |E10kmZY)—(Z %) 6
1504 0:54:30 |E10km7)—(Z& %) 7
1508 0:55:02 |E10km71)—(Z1E) 8
1505 0:55:35 |E10km=Z')—(Z %) 9
1507 0:58:27 |E10km71)—(Z& %) 10
1515 1:00:16 |E10kmZ1)—(Z %) 11
1513 1:00:29 |E10kmZY—(Z k) 12
1512 1:04:11 |[E10kmT1)—(Z 1) 13
1514 1:11:01 [E10kmZY)—(& %) 14




FZ79 2 (BF5K 4 0k

BT ES | NFE2ML =K [k
5004 0:15:30 |F5km405% k(B %) 1
5003 0:15:38 |F5km40s% k(5 1%) 2
5018 0:16:07 |F5km40s% K is( B %) 3
5013 0:17:50 |F5km407% k(B ) 4
5016 0:19:01 |F5km40s% k(B %) 5
5022 0:19:08 |F5km407% k(B ) 6
5019 0:22:01 |F5km40s% K is( B %) 7
5012 0:22:31 |F5km405% k(B ) 8
5020 0:22:46 |F5km405% K iH(E %) 9
5009 0:23:32 |F5km40i%kiE(E %) 10
5007 0:23:49 |F5km405% k(B %) 11
5006 0:25:24 |F5km40i%kiE(BE14) 12
5011 0:25:56 |F5km407% k(B 14) 13
5010 0:26:28 |F5km40s% K is( B %) 14
5001 0:26:35 |F5km40i%kKE(B %) 15
5021 0:30:36 |F5km405% K ik( B %) 16
5002 0:30:38 |F5km407% K (B 1) 17
5015 0:32:07 |F5km405% (5B 14) 18




G755 A (BF5K 5 0K

BT ES | NFE2ML =K [k
5127 0:16:40 |G5km50%% k(B %) 1
5101 0:16:44 |G5km507% k(B 1) 2
5128 0:17:39 |G5km50% k(B 1) 3
5126 0:19:32 |G5km507% ki (B 1) 4
5118 0:19:40 |G5km507% k(B %) 5
5114 0:19:43 |G5km507% k(B 1) 6
5115 0:19:54 |G5km507% k(B %) 7
5105 0:20:49 |G5km507% K i#( 5 %) 8
5125 0:21:24 |G5km50% (B 1) 9
5109 0:22:08 |G5km507% 5k iii( 5B %) 10
5104 0:22:08 |G5km507% k(B %) 11
5124 0:24:06 |G5km507% k(5 %) 12
5111 0:24:37 |G5km505% (B 1) 13
5110 0:25:07 |G5km507% k(5 %) 14
5107 0:27:30 |G5km505% k(B 1) 15
5119 0:29:55 |G5km50/% ki (F 1) 16
5102 0:30:44 |G5km505% k(B ) 17
5112 0:31:22 |G5km50% K ik( B %) 18
5116 0:32:59 |G5km505% k(B 1) 19
5122 0:39:35 |G5km507% K ii( 5B %) 20




HZ S 2 (BF5K 6 0k

BT ES | NFE2ML =K =i
5216 0:17:25 |H5km6ORER (B ) 1
5218 0:17:49 |H5km60%R (B %) 2
5223 0:19:28 |H5Kkm6BORE R (B ) 3
5206 0:19:37 |H5km60A% R (B %) 4
5207 0:20:54 |H5km60RE R (B ) 5
5209 0:21:48 |H5km60A% R (B %) 6
5202 0:22:34 |H5km60RE R (B M) 7
5205 0:22:42 |H5km607% 3 i (5 %) 8
5203 0:22:56 |H5km607% K (B %) 9
5214 0:23:04 |H5Kkm60#% R (B %) 10
5224 0:24:01 |H5km6ORER (B ) 11
5210 0:24:25 |H5km60R% R (B %) 12
5221 0:25:07 |H5km607% K (B %) 13
5219 0:25:32 |H5Kkm60#% R (B %) 14
5220 0:27:02 |H5km607s i (5 %) 15
5204 0:27:29 [H5km607% 3 i (5 %) 16
5213 0:28:41 [H5km607 (5 %) 17
5215 0:29:01 [H5km607% 3 (5 %) 18
5212 0:29:06 (H5km607: i (5 %) 19
5217 0:30:37 |H5km607E R (B %) 20
5222 0:31:28 |H5Kkm60% R (B 1) 21




1792 (B¥+5K 6 0% L)

BT ES | NFE2ML EEA [k
9320 0:21:14 (15km60#% LA (B ) 1
9310 0:21:27 |15km605% L L(B 1) 2
5303 0:21:27 (15km60#% LA E(B 1) 3
9323 0:22:04 |15km607% L L(B 1) 4
5302 0:22:11 (15km60#% LA (B 1) 5
5321 0:23:16 |15km60% L L(B 1) 6
5306 0:23:41 (15km60#% LA (B ) 7
5313 0:24:45 |15km607% L L(B 1) 8
5308 0:25:11 (15km60#% LA (B ) 9
5309 0:25:20 |15km604% LI L (B 1) 10
5322 0:26:57 (15km60#% LA (B ) 11
9319 0:27:04 |15km60% A L(B 1) 12
5314 0:27:07 (15km60#% LA E(B ) 13
9312 0:27:41 |15km60% L L(B 1) 14
5304 0:27:53 (15km60#% LA E(B ) 15
5318 0:28:03 |15km607% LA L (B 1) 16
5317 0:28:16 (15km60#% LA E(B ) 17
5311 0:29:40 |15km607% L L (B 1) 18
5301 0:30:35 (15km60% LA (B ) 19
5324 0:30:43 |15km604% LI L (1) 20
5316 0:31:36 (15km60#% LU E(B 1) 21
5305 0:31:58 [15km60m% LA (B 1) 22
5315 0:45:08 (15km60#% LU E(B 1) 23




J75 %2 (ZF5K 4 0K

BT ES | NFE2ML =K =i
5501 0:19:03 |U5km40m% K i(Z ) 1
9902 0:23:41 |U5km405% K i (& 14) 2
5503 0:28:09 |J5km405% kK i(Z ) 3
9904 0:30:36 |J5km405% K i (£ %) 4

K/ R (BF5K 5 0K

EoroBS | IFSML EEHA g5z
5602 0:18:20 |K5km50:% k(% 1%) 1
5603 0:22:04 |K5km504% ki (& ) 2
9607 0:23:44 |K5km50% (& ) 3
5608 0:23:53 |K5km50% ki (& ) 4
9604 0:27:25 |K5km50% (%) 5
5605 0:28:08 |K5km504% ki (& ) 6
5606 0:30:46 |K5km50% & (% ) 7
5601 0:30:46 |K5km50%% k(&) 8

LV A (&LF5K 50mELE)

BTV ES | NF2ML B4 =i
5707 0:20:11 |L5km504% L L (&%) 1
5703 0:22:05 |L5km505% LA E(Z %) 2
5702 0:25:04 |L5km507% L E(Z 1) 3
5708 0:25:28 |L5km507% LA L (&%) 4
5706 0:25:29 |L5km50#% LA L (Z k) 5
5704 0:25:46 |L5km507% L L (&%) 6
5701 0:26:38 |L5km507% L (&%) 7
5709 0:28:12 |L5km507% LA L (&%) 8
5705 0:28:12 |L5km505% LA E (&%) 9




M52 (BF3K 50%ElLE)

BT ES | NFE2ML =K [k
3007 0:11:36 |M3km507% A (B 1) 1
3008 0:12:10 |M3km507% kL L (B %) 2
3006 0:12:15 |M3km507% LA (B 1) 3
3002 0:13:19 |M3km505% LL L (B 14) 4
3005 0:17:09 (M3km507% A (B %) 5
3003 0:17:32 |M3km505% kL L (B 14) 6

N7 FR (BF+3K 6 0mLlE)

Evr BE | IF2M LA =K =i
3102 0:12:22 |N3km60#% LA L (S 1) 1
3108 0:12:44 N3km607% L L (B H) 2
3103 0:14:13 |N3km60#% LA L (S 1) 3
3119 0:14:23 N3km607% L L (B 1H) 4
3109 0:14:27 |N3km60#% LA L (S 1) 5
3110 0:15:30 N3km607% L L (5B H) 6
3112 0:16:48 |N3km60#% LA L (S {) 7
3107 0:17:13 [N3km607% L L (5B 1H) 8
3104 0:17:34 |N3km60#% LA L (S {4) 9
3113 0:19:01 |N3km60#% LA (B 1) 10
3105 0:19:51 |N3km607E LU L (5B %) 11
3118 0:21:02 (N3km607% L L (5B H) 12
3116 0:22:15 |N3km60#% LA L (B 1) 13
3101 0:23:11 N3km607% L L(SBH) 14
3106 0:29:21 |N3km60#% LA L (B 1) 15
3111 0:33:38 N3km607% L L (5B H) 16
3114 0:38:19 |N3km60#% LA L (B 1) 17




07 5% (ZF3K 5 0K

BT ES | NFE2ML =K =i
3508 0:14:44 |03km507% 5k (& 14) 1
3909 0:15:27 |03km507% K i (£ 1) 2
3502 0:16:06 |O3km507% (& %) 3
3501 0:16:27 |03km50/% (% 1) 4
3504 0:19:24 |03km507% 5k (& 14) 5
39506 0:21:01 [03km50%% K& 1) 6
3505 0:23:53 |03km507% i (& %) 7
39507 0:24:02 |03km505% K (£ 1) 8

P77 A (KF+3K 50mLE)

Evr BE | IF2M LA =K [
3606 0:15:05 |P3km50#% LA k(& 14) 1
3607 0:15:29 |P3km507% A £ (&%) 2
3602 0:16:45 |P3km50#% LA k(&%) 3
3604 0:18:55 |P3km507% A £ (&%) 4
3605 0:19:40 |P3km50i% LA k(& 14) 5
3609 0:20:41 (P3km507% A £ (&%) 6
3603 0:28:38 |P3km50i% LA k(% 14) 7
3608 0:30:29 (P3km507% A £ (&%) 8
3601 0:44:42 |P3kmb507% LA E (&) 9




